3rd Year English Students S5/Test/ B 2023/2024

Correction of the Test

Translate the following passage into English:
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English translation of the Teacher:

Despite that, the man was able to close his eye and open it and he could barely
see something. He was blind except some light that get into one of his eyes and
that draws to him indistinguishable images. Though the man was happy with that
little light, he was fooling himself to be among the sighted people. But this did
not prevent him from relying on two of his pupils in the way to the school or to
his home putting his hands on their shoulders, then the three of them walk along
the way like that. This is how they used to walk and people had to step aside for
them.

English Translation of the British translator E. H. Paxton:

Nevertheless, although this man opened and shut his eye, he could not see
anything, or at any rate very little, for he was completely blind except for the
faintest glimmer of sight in one eye, so that he could discern shapes without being
able to distinguish between them. Not but what he was very pleased with this dim
sight of his, and deceived himself into imagining that he could see as well as other
people. However, this did not prevent him from relying on two of his pupils to
guide him on his way to and from the school, putting an arm on the shoulder of
each. Thus they would proceed three abreast along the ‘street, which they
occupied to the detriment of other pedestrians, who had to make way for them.
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